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Note :——Thls questlon paper consists of three Sectlons A B and C.

| -SECTIONA _ o I
L Very Short Answer Type Questlons D A o - 10x2=20
. (@  Answer ALL questlons _ G ’
@) Each question carries TWO marks o SR A
1. If q b e R,f:R—>R defined by flx) = ax + b (a = 0), 'ﬁndf"l_ Lo
2. Find the domaln of real valued function B '
'f(x)_: Ax—xz.
T2 4]
A= S
_ ' -1k
. and A2 = 0, then find the value of %
4. - Find the rank of the following matrix :
| B E B T
11 1
1.1 1]
5. Find the vector e'quatidh of ‘the line j‘ciining.the""points 20 +j +3k and
47 +3j - k. | |
)166 C-
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6. If @=2{+5j+ k and b 4L + mj + nk -are “collinear vectors then find
| .m and °

A If 2z—3J +k and b—_z, +4J——2k then find <5¥k51)><(c'iv—5), -

8 | ‘Prove that " : - | o B |

cos9° + sin 9°
cos9° — sin 9°

= Cot36f’. .

9, Prove that : |
v | _ ) ,Sin5.0"’, — sin 70° + s1n10° =0,
10. Show that : |
o o (cQshx +. s’inhx‘)n‘ = éo,sh_’(n_x) + sinh (nx),
for any n e ‘R. | | |

SECTION B

1 Short Answer Type Questions : o o o 5x4=20
)  Answer ANY FIVE questiqns. o
) Ea‘ch question carrie‘vs FOUR marks.
wow -

1
5

CAdj A
detA

is a non-singular' matrix, then _prove that A1 =
12. If ~§,5 E are r'lon-coplanar'vectors then prove that :
—a+4b 3c 3a+2b 50 -3a+8b 50 —3a+26+c

are coplanar 3 - | ’ S
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13. For any,.two‘_’v'ectors a and»g,_-showbthat : |
N '(1+|_vc‘zﬁ? (i+[vgll>@'=}1;6f'5}2+)6+'5+..Zi><‘52. -

14, .Prove that : | ; S B |
1 B

sin10°  cos10°

~15.  Solve the ,éqﬁation : ‘
' sinx + 3cosx = J2.

tan~! 1 +vtari_1ﬁ 1 >+ tan™! 1 =T
\2)" "™ ) 8)7 1

16. Prove that :

- 17. Prove that :

' ‘ : . 2 2 4 2
cotA + cotB + cotC = g—t—é~—+—c—
N 4A
| SECTION C |
III. _'Long Answer Type Questlons L ‘ ) . - 5xT7=35

@ Answer ANY FIVE questlons
b(u) Each questlon carries. SEVEN marks. - - o g
18 Let f A - B I, and IB be 1dent1ty functlons on A and B respectwely," |
then prove that f ol =f= IB 0 f. __ 4'
'19.  Show that 49" + 16n — 1 is d1v131b1e by 64 for all pos1t1ve 1ntegers ‘n’.
- 20. FShQW that : - ' '

a b c[? |26c-a c? b?
b . ¢ al = c? - Zac - b? e a? = (a3 + 03 +c3 -~ 3abc)‘ .
c. a b b2 a? 2ab - ¢
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21.  Solve the followmg system of equatlons by Cramers rule :
2 —y + 32 =8
v ) ‘

&
+
&
4
[\
]

22, If g=1 2] 3k, 5‘:_2Z+.Jﬁ'+}§, T=1+ J+2k then ﬁnd '(éx-g)xé
‘and ,c_zx(‘g XE)! :
23, IfA+B+C = 23 then prove that
cos('s - A) + cos(s — B) + cos(s - C) + coss = 4cos% cosg—v cos-z—

24, If Pl, P2, P3 are altltudes drawn from vertices A, B, C to the oppos1te

sides of a trlangle respectwely, then’ shovv that :

o 'i+i+vi_l
IR R N T
(abe)  gas

@) PPP -
| , 1'2 3 8R3 ’ abe:
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